Math 1300  Section 1.8
Section 1.8: Solving Absolute Value Equations \ 5 \ = 5

Remember \._ 5\

The absolute value of x, denoted |x|, is the distance x is from 0.
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To solve the equation |x| = C, use the following properties:

X=d

X=3
'R then R oo E l¥l=‘V2 ho solhon

IfC is zero, then the solution of{|x| =0 isx = 0.

— — 2
If C is positive, then |x| =Cis equaltox = %C. {X\ = 2) X = '-“-5 <

IXl=O0 x=0
If the absol ute value equation is more complicated than |x| = C , isolate the absolute value first and then
solveit.

Examples:

1. Solve for x.

x| = 6>0
X =X6

2. Solve for x.

12x-3| = 7 "[>O
2X-3= 27

2x-3=7 < N 2x-3=-T
+35 4y Y3y A\
29 x=§ g—&‘-z‘% 2> [x=-2

3. Solve for x.

b -6
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4. Solve for x.

o Hﬁb 2 SD‘U'\YllQh& :

2| —3(2x -8)| + 4 = 30 I\
jL‘ "Li X= /6 QT\A X= %yGD

7\-3(2x-9)| =2¢
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-23(x-R)= Z 2
_%()%izﬁl \‘?ii \-5(2)(-85\’-\?; \3>0
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5. Solvef&*x. h _1i/ —65(-\2\.\:..\5
<= 6] —4|%x+1|+3=—11 24 2
- T -3 -2
2 Soluhons: \‘—xﬂ\ .
X = Il A .
X=93 -1 B "
\ =
pexel= 3
\-\2':)( x\ =-‘2—_ —‘/2 >0
-
'\ix _\\-':i\- = > —\im\ ='J£
Ly=32-2 =\ -\
6. Solvefor)gy\ 2 2 2064+ 3) — 4]+ 5 = 4 _\_ :_l_ _\__l
(Zg\i)( ‘—%(ZS 2 2 \.2
= Nyao
X=Q 2_)( = “_z'_i




[2(x+2)-4|+s=Y4
-5 -5

|2 (xe)-ul=
v
ND So‘u‘\\ot\

| 4l =1
\2 (x+) i‘% h

(2l 1) =0

2 (x+)-1=0

AWy
7(x+») =Y
7 2

X4X= 9
-2, -2
X =-A




